- You should hand me the answers to Week 11 right at the beginning of next Monday’s lecture (May 9).
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 11 in bold at the beginning of your answers.

Ch 5: Kalecki’s short-term model of output without fixed costs

L19: Kalecicki’s short-term model of output without fixed costs (Int.)

1.How are prices determined in the Kaleckian model without fixed costs?

2. In the Kaleckian model without fixed costs, distribution between wages and profits depends on a single factor. Which one?

3. In the Kaleckian model without fixed costs, distribution between wages and profits does not depend on the level of output. Why? Support your explanation with a numerical example with output at 5 and at 10.

4. “In the Kaleckian model without fixed costs, an increase in nominal wages imposed by unions has no impact on real wages.” Do you agree? Explain.
5. “In the Kaleckian model without fixed costs, an increase in nominal wages imposed by unions has no effect on distribution.” Do you agree? Explain. 

6. a) What may explain an increase in the aggregate mark-up?

b) What is the distribution with a mark-up of 500%? Explain.

7. “In the Kaleckian model without fixed costs and with a fixed mark-up, distribution between wages and profits is determined by the relative strength of employers and workers in the labour market.” Do you agree? Explain. 

8.  The ratio between aggregate wages and aggregate profits is equal to 1/θ. Why?

9. The share of wages in income is equal to 1/(1+ θ). Why?





….

10. What determines the level of output in both the Keynesian and the Kaleckian models? Explain.

11.a) Write the structural form of the Keynesian model.

b) Which factors influence AD in the Keynesian model? Explain.
c) Write the reduce form of the Keynesian model.
12. a) Write the structural form of the Kaleckian model.

b) What are the four determinants of AD on the Kaleckian model? Explain.

13. Present the causality chain that exists in the Kaleckian model among the following variables: 1. Output 2. Proportion of competitive vs. oligopolistic markets 3. AD 4. distribution.

L13: “Workers spend what they earn whereas capitalists earn what they spend” (Kalecki)

14. “If AD determines income, then capitalists earn what they spend.” Present the mathematical explanation for this assertion.

15. a) Obtain the reduced form of the Kaleckian model.

b) Based on that reduced form, calculate the effect of 20 euros increase in investment on the level of output.

Assume the MPCp= 0.9 and the profit share = 0.5.
16. Aggregate profits cannot come from businesses revenues generated by workers’ consumption. Why?

17. “In aggregate, capitalists’ expenditure is responsible to all profit income”. Do you agree? Explain.

18. Suppose that θ=2, the MPCp=0, the economy is below FE and suddenly a capitalist increases his expenditure by 100€:

a) How much does another capitalist immediately get as revenue? Explain.

b) How much does this other capitalist immediately get as profits? Explain.

c) How much does wage income immediately rise? Explain.

d) In a second step, how much do other capitalists get as profits? Explain.

e) In a second step, how much do workers get as income? Explain.

f) Write down the successive increases in capitalist’s profits. 

g) Present the economic (not the mathematical) reason why these successive increases in capitalist’s profits must be equal to the initial increase in capitalist consumption.

19. “Until FE is reached, however much of his profits a certain capitalist spends on consumption, his wealth remains the same as before”. Do you agree? Explain.

Three sectors:

Kalecki (1954, p.240):
“The capitalists of the sector that produces basic consumption goods, after having sold to their own workers the quantity of the goods that corresponds to their own wages, are left with a surplus of basic consumption goods that will correspond to their own profits. This surplus of basic goods will be sold to the workers of the two other sectors and, since these do not save, the value of those sales will be equal to their wages.” Thus, the profits of the basic consumption goods sector are equal to the sum of the wages of the investment goods sector and of the luxury consumption goods sector.

20. Why can’t the profits of the basic consumption goods sector reflect the demand from wages of that sector?

21. The profits of the basic consumption goods sector reflect the demand from which incomes? Explain.

22. What determines aggregate wages of the investment goods and luxury consumption goods sectors? Explain.

23. Present the causality chain that exists among the following variables: (i) profits of the I and Clux goods sectors, (ii) wages of those sectors, (iii) profits of Cbasic foods sector, and (iv) capitalists’ expenditure.

